jet

Z

Ratio to ATLAS

2.2

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

[EEY

0.5

_ZOQO IGeV PP

=
Njet vs pT (LJ) (1 <Ay <2)

m ATLAS
--3-- Herwig 7.2.0 default
—a— Pythia 8.180 default
----- ¢ Sherpa 1.4.0 default

IIII|IIII|IIII__III|III|III|III|III|III|III|III|III|III|III_|m

Rivet 3.1.0, = 5.4M events

5 o 3
: ,’ q.
| ™
| ©
@
// |\\ ‘._!
EEEIRN I
N R X
: \\ L’ - u | [ | [ | i
! H -
3]
=
(0]
Q
a
9o
o
(@]
| | | | | | | | | | | | E
1 1 1 [ 1 1 1 1 [ | —— 1 1
2
JH]
1
—0.5
1 " 1 1 " | " 1 1 1 1 " | " 1 1 " 1 1 " |
300 400 500



	Contents
	Page 1


